-511 -



H & 0l & AFSE E Al A
20219 204 LESIH M DS
AN HEDEN
M oM 22X AH RS
Sl THHOIRES X2 CEERE
= = — X L=
SA SR (S) - MRAY - BAS il &t e RS2
OtM WSt 10,788,745 6,359,429 4,429,316
= 2,211,116
s 385,553
| 78,130
L= 481,305
i 7,632,641
OtM Z2|XH = 367,79% 338,309 29,485
= 15,651
& 60,900
i 291,243
Mt es X 367,79% 316,809 50,985
= 15,651
& 60,900
o 291,243
Metog e s X 192,192 173,919 18,273
& 19,900
o 172,292
201 LBr2F| 116,072 113,120 2,952
01 AL 22l bl 61,000 56,800 4,200
et el HE I ME 40,0002 *100% 4,000
OB HLas HNMEFH =2
70,000& 2002+ + 14,000
oot zte|?&e FA =2 70,0003 42163 1,680
oMUY 2= M 1,250,000 43| 5,000
oML Es ZHl X 280,000 & *x20&] 5,600
OAZ MLTiE HIAZS SA
,000& «302| *30H 7,200
OUAMFAL BA FAX
8,000& 20 123 1,920
oNM-tMgas =& Xt Axt
800,000 x 12JH & »14] 9,600
OZZLH9 HAL=A MERSX =8 Xz
200,000 x5 1201 & 12,000
02 2322l 55,072 56,320 A1,248
OMCHHl CCTV Sl =
100,000 * 1500 A x12& 18,000
onM-tugas e RFU XA
300,000& x 1200 & » 14 3,600
O CHEl CCTV MIl= 12,0002 «13I0 A+ 128 1,872
OM MI(Z)2 CCTV A2 B
2,000, 000& *40H 2~ 8,000
OMHUBAZAIAE SXN2
20,000, 000& =14 20,000
oMt Es X I FFYI
300,000& x12& 3,600
202 04| 2,000 2,000 0
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SA
X ZH .
(== I

EEE

- _ - PSLE|
SA-F3H - SA(ZA) - HRAY - BES Off &F o4 'Oﬂ'@oEu Hws2
01 S LHAYI 2,000 2,000 0
oN-tgas =2 ¥ & |Al2cl ol
20,0003 »2H 502/ 2,000
301 LEtENS 7,720 7,720 0
< 1,900
s 5,820
09 HAIAHIXIE = 7,720 7,720 0
ootdZ A glztel FIHA A X
8,000& x20H 123/ 1,920
ONt=a I =4 8,000& #2502/ x12] 2,000
oot okt X3 20,0003 =19 103! 3,800
< 1,900
= 1,900
302 OIFL T E A= 1,600 1,600 0
02 212N R =S Ea S 1,600 1,600 0
Ot HESIHHM &s N&
800,000 204 Xl 1,600
307 212t0l A 4,800 0 4,800
01 S+ =HI 4,800 0 4,800
OZZUH9 RotACIA HEE X&
50,0003 ~8H * 124 3 4,800
401 Al HI L 20| 60,000 0 60,000
< 18,000
s 42,000
01 AI&HI 60,000 0 60,000
SE0tS MHHeA TV 2= K&
20,000,000 *34! 60,000
< 18,000
s 42,000
etz N2 2SN 2,000 2,000 0
< 1,000
s 1,000
201 ZBt24] 2,000 2,000 0
< 1,000
s 1,000
01 At2te|H] 2,000 2,000 0
ootd el X2l 2N 2,000, 0003 * 14| 2,000
< 1,000
s 1,000
S=0| 2EAIE &X 15,512 4,170 11,342
= 7,756
s 7,756
206 M=l 15,512 4,170 11,342
= 7,756
s 7,756
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SA

Mo ol ZRAMH 7E
Sl THHOLES X (el &
- _ - &
SN ZH - S(S) - MRAY - BAS Ol &t o S dImEET
01 M=zl 15,512 4,170 11,342
20| HHAIL EXX 15,512
= 7.756
i 7,756
ANZ 20HHS SEEs X 14,790 5,790 9,000
2 2,89
i 11,895
201 Lt | 14,790 5,790 9,000
2 2,89
i 11,895
01 At 22|l 14,790 5,790 9,000
OMUISAFEER XA (2Y])
5,790,0002 14! 5,790
2 2,89
i 2,895
OMUISAFERER XA (2H])
9,000,000% *14! 9,000
S0 otd&e QT | 133,300 116,600 16,700
< 40,000
2 93,300
101 Q1214 33,300 116,600 16,700
< 40,000
i 93,300
P EEEEPS 33,300 116,600 16,700
O2=0l oEB2IRY QA
133,300, 000& * 14! 133,300
< 40,000
2 93,300
S&J| et ag| 10,000 0 10,000
= 5,000
2 5,000
307 QI2+0I A 10,000 0 10,000
= 5,000
2 5,000
05 QIZtRIE S 10,000 0 10,000
Q&I AMDUE PEE& 10,000,000 14! 10,000
= 5,000
2 5,000
Metolgr 2eldH 2= 3,297,986 1,562,986 1,735,000
= 828,000
= 194,320
i 2,275,666
LA & FH2E 236,920 226,920 10,000
Hazy 22 33,220 133,220 0
101 Q1214 1,500 1,500 0
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S H:
7(‘| il—l:
C|—O|:

el XA A=

2 XY 2N

0T =re
P P
=z 2K

ux 0% OHﬂ
H"‘

P = N
SA-BY.SASH) - RN - B ol &t S HIDE
04 JIZtN 22 NHEE2 =+ 1,500 1,500 0
S2=7 o Maze Ry
1,500,000 =14 1,500
201 fet2 4| 61,720 61,720 0
01 AtR2telH 6,720 6,720 0
ON&EZY =AM 8,000 x2821x10 x3& 6,720
02 s5=3H 55,000 55,000 0
05 -9 A MEJ| #=2ld]
1,000,000& #5214 5,000
OM&ZEHl =2t (EH) 300,000& 504 15,000
OM&EXAIY sA22ldl 15,000,000 141 15,000
OE=H N&J|l 280t 20,000,0003 14 20,000
206 = H| 30,000 30,000 0
01 =l 30,000 30,000 0
ON&EXH +L 30,000,000 14! 30,000
302 Ol=H Mol 2 &= 40,000 40,000 0
02 Q2= ES 2= 40,000 40,000 0
ONM&EXY =FHl A& 200,000 =200CH 40,000
=8 & 2t 103,700 93,700 10,000
101 14| 2,200 2,200 0
04 JIZtN 22 NS+ 2,200 2,200 0
Otf+=8Td Q2 2,200,000 14} 2,200
201 2=yl 71,500 71,500 0
01 At=2t el 11,500 11,500 0
OogE - HE - SIS M2l =
10,000, 0003 *14) 10,000
od¥ERE 7N UHEE
1,500,000 =14 1,500
02 s5=3H 60,000 60,000 0
Ogz - d& - SX8Ld 332
60,000, 0003 14| 60,000
401 Al HIZ SO 30,000 20,000 10,000
01 Al€Hdl 30,000 20,000 10,000
OtH+=BZZ A& 23|
10,000, 0003 34 2= 30,000
gHes 2l 1,063,066 386,066 677,000
= 24,000
& 33,520
= 1,005,546
s A 340,000 310,000 30,000
101 14| 20,000 20,000 0
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el BmE==any
MO 2l H 2=
LHES 2 (el &3
- _ - &
SN ZH - S(S) - MRAY - BAS S dImEET
04 JI12tH22 RSB+ 20,000 20,000 0
OXHMol SsSUHE 2R 20,000,000 14! 20,000
201 LetEdy| 265,000 245,000 20,000
01 At 22|l 212,000 192,000 20,000
OYMAIE & ZHISZHI 500,000& x12& 6,000
ogMesXa eIMs 16,000, 0003 * 14! 16,000
O WU HaZ2 S|
5,000,000& 14! 5,000
OX Mol S=SUHE FHIZX=
20,000, 000& *14] 20,000
OTHBHEBFE Il 218 4 100,000 *5% +303] 15,000
0S2=7 ¥ ME T YxE
150,000, 000& 14! 150,000
02 2322l 53,000 53,000 0
ost=2M g3l 1,000,000& * 14 1,000
OYMAIEE B223 500,000 *x12& 6,000
Oxtg X2/l 5,000,000 «2CH 10,000
OXeEE= 1,000,000 «3CH 3,000
OX&IIEE A= wX2el 2
SS,OOO,OOO%*VAI 33,000
206 XH =4I 20,000 20,000 0
01 HZHl 20,000 20,000 0
O=%AM 20,000,000 14! 20,000
301 YPYBNZ 3,000 3,000 0
09 HALAHIXIAZ 2,000 2,000 0
OX XS 212tel =]
2,000,000& 14! 2,000
12 JIEt24 3 1,000 1,000 0
OMMNHE KRBX L&t 1,000,000& *14] 1,000
302 OIFLTHAHE &S 32,000 22,000 10,000
02 QIZICITHGH Y =R &S24 3 32,000 22,000 10,000
OMalog & SPE0 22tel daixz
2,000,000& 14! 2,000
OXlY Xsgdistas Xl
10,000, 000& * 14 10,000
QA AILIIGH THHXIRS 20,000,000 14! 20,000
Z40 28 75,066 76,066 21,000
< 26,320
i 48,746
201 et Fy| 19,000 20,000 A 1,000
< 9,500
s 9,500
01 At 22|l 19,000 20,000 A 1,000
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Off &F o4

=[x

i
J12H

M

19,000

9,500
9,500

307 212t0l A

M H1

56,066

16,820
39,246

56,066

o
>
HI

©
oy o
b
i
02
J

tel X

56,066,000 * 14!

M1

56,066

56,066

16,820
39,246

56,066

J
02
a2
L]

HH W

48,000
24,000

7,200
16,800

48,000

401 Al HI LSO

H A

48,000
24,000

7,200
16,800

48,000

01 Al&Hl

48,000,000 * 14!

M H

48,000

48,000
24,000

7,200
16,800

48,000

RHTHOH M 2 S8t 2 42

600,000

600,000

401 AIEHIZL S0

600,000

600,000

01 Al&H|
ORI Z S EH & 2

600,000, 000& * 14

600,000

600,000

600,000

MRS AILEE HHI

HH W

,998,000

804,000
160,800

,033,200

950,000

1,048,000

THOHRAEHA X7 HHIAI (SEXR)(B=X)

H A

,488,000

554,000
110,800
823,200

950,000

538,000

401 Al HI 2 2 THY|

H

,488,000

554,000
110,800
823,200

950,000

538,000

01 Al&HI
Os" ASHMHASMEX T FH

1,481,600, 000& * 14!

HH W

,481,600

,481,600

552,000
110,400
819,200

944,000

537,600
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AN HEDEN
M e 22 MAH 2=
=S MtASAE =S EEEEE
= = X L=
SA SR (S) - MRAY - BAS il &t e RS2
03 AlE 20| 6,400 6,000 400
O=Y XNHTHHAEEINAXI 2 HHl S2OHUI
6,400,000 14 6,400
= 2,000
& 400
o 4,000
THGH Ol 2 AFS 10,000 0 10,000
401 A& HI YL 20HHI 10,000 0 10,000
01 Al&HI 10,000 0 10,000
OMHUHTAIE RXNE= 10,000, 000& » 14! 10,000
oI E XS Hul (S MB3JAXT S ALK 500,000 0 500,000
= 250,000
& 50,000
o 200,000
401 A& HI YL 20HHI 500,000 0 500,000
= 250,000
L= 50,000
o 200,000
01 A&l 496,400 0 496,400
O MISAX T SZAMA SRS Fl
496,400,000& 14! 496,400
= 248,200
& 49,640
o 198, 560
03 AlE 20| 3,600 0 3,600
OSMIBAX T S Z A SURAEXNS Y| 2
CHHI 3,600,000 1A 3,600
= 1,800
& 360
i 1,440
Moh == 29,484 0 29,484
THoH = A 29,484 0 29,484
LTHAIE THOH =S 2 AFS (KEA) 29,484 0 29,484
401 A& HI YL 20| 29,484 0 29,484
01 Al&HI 29,484 0 29,484
OYTHAIE THOHS AL 29,484,000 * 14 29,484
Qrgke| ztel 520,035 618,926 208,891
= 211,565
& 36,658
o 271,812
Qrgkel A &g 304,895 283,216 21,679
= 209,655
i 95,240
gl g =a 6,500 6,500 0
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FSImE=ni;
Bl e
HI&CH= 2tel (el &
P = N
SA - EHH . C(S) - MRAY - BAS S HI DS
01 AtR2telH 17,900 17,900 0
OERHEM M= 75,0003 172 12,900
OsAilds 8¢ XN& 4,000,000 «12] 4,000
O=x2ldln 822 M 500,000 13l 500
OSAI A2u= 250,000« 18 %23] 500
2P AlEEH 2 187,040 307,040 A120,000
= 36,000
= 151,040
ekl A2 EHl |2 67,040 67,040 0
201 £et24E| 50,040 50,040 0
02 =524 50,040 50,040 0
oY= dHa3=Alg &g
20,000 *3)H A*123 720
OUALAPAY L NNHYPEAAE WG
3 AIER 62,5003 x200H 2=+ 123 15,000
OUYRAFEAIE & NNHLBEAAE A
= 18,0002 200 A +123 4,320
OoYS BIAALY SNLPE
30,000,0003 141 30,000
202 (4l 3,000 3,000 0
01 =W OHI 3,000 3,000 0
ougus & 22&F4 70,0008 x221%102] 1,400
o ZEAE 2SS 24
20,0003 x201%403] 1,600
401 Al HIZ SO 14,000 14,000 0
01 Al€H| 14,000 14,000 0
oYL ANES(S+ & B2AE)E=FH
2,000,000 *79H 2 14,000
ULRAFE AN S oA 120,000 240,000 A120,000
& 36,000
= 84,000
405 Kok S4| 120,000 240,000 A120,000
& 36,000
= 84,000
01 MM =S FSH 120,000 240,000 A120,000
OSaetAS =& X 2 2 U=32AE
bS] 40,000, 0003 =34 120,000
= 36,000
= 84,000
Arglet& e olel = 835,083 637,660 197,423
SST2ANMAE L CCTV2L 835,083 637,660 197,423
CCIVSE2HdEH 28 & 285,683 9,440 276,243
201 fet2 4| 117,683 9,440 108,243
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SA OHEDED
3 Atelotde ezt 4
el SS2HAE & CC TVJ—FEI (el &
SA B SRA(EH) - MTAY - BAS 0f &t e HIDE
01 At2telH] 8,720 9,440 AT20
O2NHEH 225 & JIEEAN 2
100,000 *30 4 3,000
O2NHEH S22 MH 5,000,000& * 14! 5,000
O2N LA & AILI=H 120,000& 6 720
02 ss=3H 108,963 0 108,963
OSEAN2EALH RAE S|
178,200,000 *0. 10%1. 1 19,602
ogaNd & BHEAAY RAE+ 4|
157,200,000 %0. 10%1.1 17,292
OYYHEEANLE RAES S|
246,000,000& *0.08+1.1 21,648
OGISAIA8 =24 S|
39,500,000& %0. 15%1.1 6,518
OSE2AMAZEAN(WS) FXE+ Sl
74,000,000 0. 15%1.1 12,210
OUIERA & 2otdHl FANE+ SHHI
173,895,000% +0.08+1. 1 15,303
OEZMOAIAE & WAA=2AERHE FX
24 SS9l 75,120,000& *0. 15%1.1 12,395
ogzgsll RIS S9|
22,935,000 +0.08*1.1 2,019
ORFHEEAEX(UPS) RAEs S|
22,449,000 +0.08*1.1 1,976
405 Kok S4| 168,000 0 168,000
01 MMH =S F S 168,000 0 168,000
ORQUTICHAIAE (H58) Pe
50,000, 0003 14| 50,000
OYAHANAY 2L 50,000,0003 14 50,000
OstHEAERE Y 45,000,0003 14} 45,000
OQtEIHIOIA AAIAE 220 10,000,000 *14] 10,000
OUSBE Al AE 22 13,000, 0003 14| 13,000
CCTVEXR & 22 549,400 628,220 AT78,820
201 fet2E| 249,400 243,020 6,380
02 s5=3H 249,400 243,020 6,380
ocvsdzld 2=
100,000& 13090 21204 & 156,000
ocCvdlles 15,0003 * 13000 A+ 1200 = 23,400
OCCTVAIZ€ EHI |RAIZ= 98I
50,000,000 1 50,000
occTveEd &l = & 2
20,000,000& 14| 20,000
401 Al HIZ SO 300,000 200,000 100,000
01 Al&HI 300,000 200,000 100,000
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om = e

TS pmA==nly
gletdY ol
S2AMLEH L

ct 7
CC TVJ—F cl

- _ - &
M- B3 S (31H) - HRAY - BAS 0l et S HRE2
Q&IFCCTV &X & TV WXl
300,000,000& 14 300,000
4 i 3,113,218 769,443 2,343,775
= 1,152,000
| 78,130
< 900
i 1,882,188
N2 2Z 519,813 540,197 A20,384
& 900
s 518,913
SHMAEE R 290,400 380,800 A 90,400
201 et Fy| 89,400 90,800 A 1,400
01 At 22|l 21,400 20,800 600
ounstlss ™D g ===
4,800,000& 14! 4,800
oOUS HAMAZ ]l
8,000& 102120 1,600
OHASXHOI 5,000,000 23| 10,000
Quszd A4S QI4HHl 1,000,000 33| 3,000
OWEXNEZR 23H(x=7l, &= )
2,000,000& 14! 2,000
02 2322l 68,000 70,000 A2,000
Qustss 3 4,000,000& *12& 48,000
OustsSsER | 29|
20,000,000 14! 20,000
401 Al HI L2 0HHI 201,000 270,000 269,000
01 A&l 201,000 270,000 AB69,000
OunEHMEX E HH| (A&, WAl)
500, 000-& *20JH 2= 10,000
oustss & 10,000, 000& *6IH 2 60,000
(OIME=FE=P [} 10,000, 000& 2CH 20,000
oOThHE Z2&E X szl
1,000, 0002 =100 & 10,000
OHASLE E U SN (XF)
500, 000-& *20JH 2= 10,000
oBASZE & 1,000, 000& *207H 2~ 20,000
oBASZE W 10,000, 000& *5H 2 50,000
OHASZE & 700, 0002 *307H &~ 21,000
nEHE 2el 209,230 95,927 113,303
101 Q124 H| 99,030 65,627 33,403
04 JIZHZ2XSE 99,030 65,627 33,403
OLMII7 EHEE wsatel Y
91,050& #2501« 15Y 34,144
OZH=XE 2 79,0503 x201%31 4,902
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AN HEDEN
M NESsE o
& WSAEE 2¢Y (el &3
- _ - &
SN B CR(BH) - MRAY - BES 0l et S HRE2
OFEXALtEtE JI2HH el 59,984
OJl=zs 71,050 +2622 20! 37,231
OF=s=¢ 71,0503 x52 +20!1 7,390
OsssI=g 71,0503 *122 %201 1,706
OAZteI 222 13,3212 120 Al 2+%201 3,198
O&AZ3 2,500,000& 221 13] 5,000
O=0d3FE=3 24,976,000 *0.045%2¢! 2,248
ONEEERES  24,976,000& +0.0165%2¢! 825
OHLEBHRES 24,976,000 *0.0343*2¢! 1,714
OBIIRLEEREZ 857,000 0. 1152%20! 198
OMTHEERES  24,976,000& *0.00948%20! 474
201 LetEdy| 11,400 11,400 0
02 222l 11,400 11,400 0
OSAIEEZZ Y A2 400,000& x12& 4,800
ONLUHsuNSAMAY RX22]
550,000 x12& 6,600
202 O4Hl 2,800 2,800 0
01 = LHGYI 2,800 2,800 0
OSEAAE A2EX oYl
70,000 *221%203] 2,800
207 & 20 Y| 70,000 0 70,000
01 A E S| 70,000 0 70,000
OHM4Xt HzEns JI2HE =8 Y
20,000,000 14! 20,000
OM4X WSOt J2HE +8 2829
30,000, 0002 =14 30,000
OM4xt WEAX OlsEH SEAHE =8 EH
20,000,000 14! 20,000
307 SI2toI & 11,000 8,100 2,900
02 QIHH A E X 11,000 8,100 2,900
OLADH2 M3 XA 11,000, 0003 » 14 11,000
308 AtXISHHSOIH 15,000 8,000 7,000
07 XXIEM2tRE =2 15,000 8,000 7,000
OUINEsSHASESHLHH X2
15,000, 000& » 14! 15,000
HAZEAIAE(BIS) RRIE 14,183 53,070 A 38,887
308 AtXISHHSOIH 14,183 13,070 1,118
11 3 2SOHEZ & E P E AL I 14,183 13,070 1,118
OHAZEZAAE(BIS)R Al 22l
14,183,000& * 14! 14,183
N2 nESotd XIJAALS 6,000 10,400 24,400
< 900
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SA OHEDED
M NESsE o
Col: DEAME 29 EERE
=] XNxH . ClQ (S SBAIA . HASZ | OH HEAL =2}
Tkl'o—|'|_'l‘|(21)")'k"—rAl'l=l'n_o—1 O:Hﬁﬁ O:H&.OH t”DLEI:I
s 5,100
201 LetEdy| 3,000 4,700 21,700
01 AtR2teltl 3,000 4,700 21,700
Ousotd g g2 #2  3,000,000& 14! 3,000
301 YPYBNZ 3,000 5,700 A2,700
& 900
s 2,100
12 JIEtE A3 3,000 5,700 A2,700
OLNABEI 2HHG NAIBtE X WEHl K&
100,000& *30H 3,000
< 900
s 2,100
SgussH X 280, 105 229,246 50,859
| 78,130
s 201,975
Z0Hel SEAI2Y 280, 105 229,246 50,859
| 78,130
s 201,975
307 QI2+0I A 280, 105 229,246 50,859
| 78,130
s 201,975
05 QIZtRIE S 280, 105 229,246 50,859
OXZHQZSEIAl 294 140,052,500 & *2H Al 280, 105
| 78,130
s 201,975
NS WSeHM SN ALY 2,313,300 0 2,313,300
= 1,152,000
s 1,161,300
HEI0IEES72S HEAS 2,313,300 0 2,313,300
= 1,152,000
s 1,161,300
201 LetEdy| 9,300 0 9,300
01 At 22|l 6,300 0 6,300
ORQUTETY|(NZ) HIIBA 248
1,260, 000& *5H 2~ 6,300
02 5223l 3,000 0 3,000
ORIH=ZH(UX) B2
3,000,000& 14! 3,000
401 A& HI YL 20| 2,304,000 0 2,304,000
= 1,152,000
s 1,152,000
01 Al&HI 2,304,000 0 2,304,000
OZSstn ¥ RoITEFY AX|
56,000,000 x24I 2~ 1,344,000
= 672,000
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SH: QAHDEY
Ha: DSy KA
ot XIS MECHA BN ALY (69 &2
- _ - &
SA - SRA(SAH) - HRAY - HES Ol &4 'Oﬂ'@oEu Hlus2
s 672,000
OXESD ¢ NEASS &3
64,000, 00021 *157H A 960,000
= 480,000
i 480,000
HERE |4 X2 2,270,262 2,235,492 34,770
= 3,900
s 385,553
= 188,527
i 1,692,282
&R AR 2,269,762 2,234,992 34,770
= 3,900
s 385,553
& 188,527
2 1,691,782
HASH HE X 23,100 19,900 3,200
207 A ORI 19,900 19,900 0
01 A7 E | 19,900 19,900 0
OB0EHA WY DEYTAR
19,900, 0002 *14! 19,900
308 XHXIEHHI S 01 & 3,200 0 3,200
07 MXISHM2t 2L 2 3,200 0 3,200
OHASEAAT BLLX2H HESY
3,200,000 =14 3,200
SIS 142,177 100,000 42,177
2 42,653
& 27,081
i 72,443
307 212401 & 142,177 100,000 42,177
2 42,653
& 27,081
2 72,443
09 2+LHEXS 142,177 100,000 42,177
OSUEHA SHRL s SABA
142,177,000 *14] 142,177
2 42,653
= 27,081
i 72,443
ZSH 24AH RIIBES 360,000 220,000 140,000
307 212+01 & 360,000 220,000 140,000
09 2+LHEXES 360,000 220,000 140,000
OFSM 242K RIHLES
360,000,000 14 360,000
HASSAIY HEX 790,200 865,000 A74,800
= 7,560
i 782,640

- 527 -




SN HEDED
Ny Z0E 84

ool 2aAe AR (69 &2
= X XH Ct2l (S = o HASZ OH x‘—-IL'i'E =2}
Tkl'ox—|'|_|"l‘|(21)")'k"—rA|'|=|"}£o—1 0:"‘&'—| O:H&.OH t”DLEI:I

307 QI2+0I A 790,200 865,000 AT74,800
< 7,560
s 782,640
09 2=HAHEXZS 790,200 865,000 AT74,800
Os0HEHA = HEXEH
700,000, 000& » 14! 700,000
OHAR=SAMA 220AH HEXH
150,000 x14H ~12& 25,200
< 7,560
i 17,640
OSO0EHA QTAEHH 4o
30,000, 000& *14] 30,000
O=sEHA WEIHE gelXA
35,000, 000& *14] 35,000
BAIZSAE HEXE 107,685 107,692 N7
= 3,900
< 2,786
s 100,999
201 LetEdy| 43,942 44,994 21,052
01 At 22|l 43,270 44,532 N 1,262
OYAIOIE YT Bt s8Nz RAES
(ehd) 110,000& *35CH 3,850
O8AIOIE 22U Bt s N=(&14])
45,0003 7301123 39,420
02 2322l 672 462 210
OQEAl JHEZMDI| S4RS 8,000 +7H*12A& 672
301 YPYBNZ 26,000 39,000 A 13,000
= 3,900
s 22,100
12 JIEtE A3 26,000 39,000 A 13,000
OHAl Z2XEAZ 13,000, 000& 2CH 26,000
= 3,900
i 22,100
307 212+01 A 36,670 23,698 12,972
< 2,786
i 33,884
09 2+HEXS 36,670 23,698 12,972
oEdHEZ RS 0IER
13,2002 «69CH 128 10,930
OHYAIRZ ItEsE 18,240, 0003 » 14 18,240
< 2,036
s 16,204
OLZEAl UXtHIE XI& 1,500,000 *5CH 7,500
& 750
s 6,750
308 AtXISHHSOIH 1,073 0 1,073
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SA: tE S0
HdM: (snsE =4 XN
©He: 23AE & (cte &3
S . ™I . CHO (S . HlEAIS . HA 2 Fol dEE =2
11 I 2SUHUSHE & ELAE AL Y| 1,073 0 1,073
OOYA2HEHEE 2A2IAIAE 294
1,073,000& =14 1,073
S|YEA 2Y 246,600 322,400 AT75,800
= 42,900
== 61,100
= 142,600
301 LetE8NZ 246,600 322,400 A75,800
= 42,900
== 61,100
= 142,600
12 JIEt2 &= 246,600 322,400 A75,800
O3S|UEA 29 246,600,000 »14] 246,600
= 42,900
= 61,100
= 142,600
SEE NERYAMNS(S3E HA) 600,000 600,000 0
= 300,000
== 90,000
= 210,000
307 2I2t0I & 600,000 354,000 246,000
= 300,000
== 90,000
= 210,000
09 2+HHEXZ 600,000 354,000 246,000
0338 HA 29 600,000, 0003 »14] 600,000
= 300,000
= 90,000
= 210,000
S2F46 sS4 500 500 0
ME=F=E=a-1FSUNE-| 500 500 0
301 LetE8NZ 500 500 0
12 JIEt2 &= 500 500 0
Os2A=sx SHAMR MNTNS
100, 000& x5 500
HYE2HAY (LA NED) 145,370 0 145,370
ol 2YH|(HE W ED) 90,636 0 90,636
ol 2gy| (M s ) 90,636 0 90,636
101 Q124 H| 90,636 0 90,636
01 2= 88,463 0 88,463
oxl=22+Y 10,8413 x1721 %480 A 2t 88,463
03 S HAZZXE S 2,173 0 2,173
oOx22E 18, 105& * 121 x120A] 2+ 2,173
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S H:
7(‘| il—l:
C|—O|:

A - I CR(EH) - MBAY - BY e 2

2ZH (NS 54,734 0 54,734

Jl2Zd (et nEn) 54,734 0 54,734

201 et gy| 34,334 0 34,334

01 At 2teltl 34,334 0 34,334
oget=EZH| 16,790, 000& » 14! 16,790
o=l 8,256,000& 14! 8,256
ogx=z 9,288,000& 14! 9,288

202 04l 16,200 0 16,200

01 = LHGYI 16,200 0 16,200
OYRFA JI20HI 16,200, 000& » 14! 16,200

203 PR F2AY| 4,200 0 4,200

04 EN2ELRFAH| 4,200 0 4,200
ORN2IHRZ=AHI 350,000 x12& 4,200

Hegs (A nSH) 209,513 196,613 12,900

A XIS (tE nE D) 209,513 196,613 12,900

HEAHAXIS (et nED) 209,513 196,613 12,900

701 DBt HSEHES 50,172 41,89 8,277

01 JIEtSl HEES 50,172 41,89 8,277

OFXEHALEEAH HES(F TAAHEAM &

oK) 501,720,000 = 10% 50,172

R2JISHEEZS 159,341 154,718 4,623

01 J1=d&E=S 159,341 154,718 4,623
oMt2elIs ME=S 159,341,000& 14! 159, 341
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